Just How Many? 1

Answer the mulfiplication questions.

Jeff has 3 bags of gumballs.
There are 6 gumballs in each bag.

How many gumballs does Jeff have? o

o
X = gumballs o

Tina has 4 boxes of crayons.
There are 5 crayons in each box.
How many crayons does Tina have?

X = crayons

Kim gave 1 balloon to each guest at her party.
There were 10 guests at her party.
How many balloons did Kim give out?

X = balloons

Mike has 2 fishbowls.
Each fish bowl has 2 fish.
How many fish does Jeff have?

X = fish
Each goat in the barn drinks 2 buckets
of water every day. How many buckets S
of water are needed to feed 5 goats for one day? '
X = buckets of water
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